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500,700,1000ppm  EC E500,E700,E1000 NC
@ 5x 10cm 1
2 W/C=0.40 E500 W/C=0.35 0.50 20
1,3,6,12 1,3,7,14,28,91 6
Na~ K" c& ¢ so° OH
1 EC NC EC NC
SiO, | ALO; | Fe, 03] CaO [ MgO| SO; | R,O | Cl | total C,S C,S | CAF| CA
E500 | 17.1 794 | 436 | 614 | 180 | 374 | 026 | 0.054] 96.63] | E500 | 52.2 96 | 133 | 137
E700 | 170 790 | 435 | 616 | 188 | 374 | 017 |0.087] 96.78] | E700 | 54.0 80 | 132 | 136
E1000| 171 819 [ 408 | 616 | 181 | 382 | 035 |0.112] 97.06] | E1000| 51.8 99 | 124 | 1438
NC | 20.81 | 502 | 292 | 64.88| 1.18 | 1.95 | 0.64 | 0.003] 97.40 NC 625 | 125 | 89 | 84
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